Fairfield Public Schools                                 G4 U6                                   Skills Assessment - key

Name: ___________________________                                          Date: __________  

Estimate the quotient for each of these equations. Explain your thinking.
 (2pts each)
1. 652 ÷ 7=  e.g since 7× 9 = 63, 7× 90 = 630, so the answer is about 90     

OR 652 is close to 700 and 700 ÷ 7 is 100, so the answer is a little less than 100.
2. 314 ÷ 6=  e.g since 6 × 5 = 30, 6 × 50 = 300, so the answer is about 50     

OR 314 is close to 300 and 300 ÷ 6 is 50, so the answer is a little more than 50.
(1 point for a reasonable estimate and 1 point for a reasonable explanation)
Find the quotient for each of these.  You may use partial quotients or a division algorithm.  Show your work. 








(2pts each)
3. 
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  = 75





     
     = 208



students may use partial quotients


     students may use partial quotients

e.g 375 = (350 + 25) ÷ 5 

     

     e.g 832 = (400 + 400 + 32) ÷ 4 
= 70 + 5 = 75





     = 100 + 100 + 8 = 208


OR







OR
students may choose to use an algorithm                  students may choose to use an algorithm

5. 416 ÷ 8 = 



 
    6.  921 ÷ 3 =


     = 52





     = 307



students may use partial quotients


     students may use partial quotients

e.g 375 = (350 + 25) ÷ 5 

     

     e.g 921 = (300 + 300 = 300 + 21) ÷ 3 
= 70 + 5 = 75





      = 100 + 100 + 100 + 7 = 307


     OR







OR
students may choose to use an algorithm                  students may choose to use an algorithm

(1 point for the correct quotient and 1 point for a demonstration of an understanding of partial quotients or of an algorithm).
Find the quotient and remainder.  You may use any strategy you choose to find the answer.  Show your work or explain your thinking: 




  (2pts each)
7. 67 ÷ 3



    8.  569 ÷ 5
    Quotient:     22__

               Quotient:    113_
    Remainder: _1__


     Remainder: _4__
(1 point for the correct quotient and 1 point for a demonstration of an understanding of partial quotients or of an algorithm)
Find the answers that make the sentences true.  Show your thinking.

(2 pts each)


9. _208_ ÷ 4 = 52


     10.  238 ÷ _7__ = 34
e.g. 52 × 4 = 208


         e.g.  7 x 34
(1 point for using multiplying or using some other mathematically correct strategy and 1 point for the correct answer).
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